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1 1. A photographer shines a camera light at 3. Liola drives 16 kim up a hill that is at a
1 a particular painting forming an angle grade of 10°. What horizontal distance, to E
1 . 0f 40° with the camera platform. If the the nearest tenth of a kilometer, has she :
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2. To find the height of a tower, a surveyor ® 76 33 e
positions a transit that is 2 meters tall at a =
spot 95 meters from the base of the tower. ‘ . E
She measures the angle of elevation to 5. In the diagram, a period is standing at 3 ?
the top of the tower to be 32°. What is the point A. To the nearest tenth of a foot, o
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